#2108 MILY v X<2T7V >
10kmBAEF (60U L) >

1|10km 3B F 60758 A £ 33005 |/ HIEBIE ML E 0:44:31 0:44:27
2|10kmEBF605m% A £ 33011(H& — KERAF 0:44:36 0:44:33
3[10kmEBF 60U £ 33008 (&t #7F) KERAF All Buddy 0:45:56 0:45:50
4{10kmBF605m% A £ 33010(3EME % REBAF 0:46:09 0:46:01
5|10km 5 F 60758 A £ 33001|H% &7 MIWLE |BEHE A 0:48:16 0:48:08
6[10km%EF605% A £ 33024| LB %ZimE MARLE 0:48:45 0:48:42
7[10kmEF 60U £ 33018| 4 HE ML 0:48:56 0:48:47
8|10kmEF605 A £ 33014|EH MARLE 0:49:38 0:49:22
9[10km&E F60m U £ 33016|8 f@B ML |74 0:50:29 0:50:13
10|10kmB F605z LA £ 33006|Ri EE FRHB 0:50:38 0:50:36
11|10kmZBF60/m U L 33007 |28 #= MIWLE | ERAR 0:50:57 0:50:54
12|10kmE F605% L+ 33019(=A  ®E MARLE 0:51:43 0:51:36
13|10kmZB F 605U £ 33180 |#BE X ML 0:52:49 0:52:26
14|10km S F605% L 33036[;T)I1 & AL E 0:52:51 0:52:31
15|10kmB F 605U L 33054|)1178 &= MILE |#EMRC 0:53:15 0:52:39
16[10kmE F605%LL 33002|&h & MILE |k — X 0:52:42 0:52:40
17|10kmZB F 605U £ 33004 |4 & ML 0:53:02 0:52:56
18|10kmZB F605% L £ 33026|=% XE EER |BBEASS 0:53:34 0:52:59
19|10kmZBE F60/m U £ 33074 |85k 8L MTLE | BEs 0:54:06 0:53:46
20{10km S F605 U £ 33033|Et+E =R MARLE 0:55:10 0:54:45
21|10km S F605% A £ 33067 |liA =7 MILE | EHRIZEE 0:55:30 0:55:02
22(10km S 760U £ 33040(EA% JHz MILE |PEREL R — L TERAEH 0:56:13 0:55:57
23|10km B F 6058 A £ 33020(FH 8 RER | KBRAT 0:56:13 0:56:04
24|10km B 76058 A 33037 |4tk EEAIIEY 0:56:59 0:56:38
25|10km S F605% A £ 33057|R —= MILE 0:57:05 0:56:48
26{10km S 760U £ 33032|FL # MARLE 0:57:57 0:57:35
27|10km S F 6058 A £ 33025[4 AR & ML 0:58:05 0:57:43
28(10km S F 605U £ 33017|3z7E Z*E— MILE | 774> 0:58:14 0:58:09
29|10km S F605% A £ 33039(R EX KERAF 0:58:45 0:58:15
30(10kmB F60m MU L 33035(m fHEA MILE 0:59:00 0:58:19
31|10km 3B F605% A £ 33120|&3F AR ML 0:59:41 0:58:19
32(10km S F605E U £ 33056 |EEED = KERAF 0:59:07 0:58:41
33|10km 3B F605% A £ 33209|&8 FA iE] L2 0:59:20 0:58:41
34{10km S F605E U £ 33063|¥ A KA KERAF 0:59:03 0:58:43
35|10km 3B F605% A £ 33050 (&M 2@ EEE |eH=EsTT 0:59:49 0:59:20
36[10kmB F 60U L 33028|#a AR MPLE | 754~ 0:59:48 0:59:36
37|10km S F605% A £ 331298 FEAN ML 1:00:58 0:59:40
38(10km S F605E MU £ 33100|#& E= KERAF 1:00:37 0:59:46
39|10km 3B F605% A £ 33153|HE ®mE KR |&#H 1:01:27 1:00:01
40{10km S F605E U £ 33047|F L #7 KBRAF 1:00:33 1:00:02
41|10km S F6075% A £ 33029 (% kgt KERAF 1:00:26 1:00:11
42{10km S F605E U £ 33023(Fii #A KBRAF 1:00:24 1:00:16
43|10km B F605% A £ 33027|fE  #03kA ML 1:00:43 1:00:38
44{10km 5B F605E U £ 33059|H+* —%& MARLE 1:02:22 1:00:49
45|10km B F 6058 A £ 33147|4%H 1 ML 1:01:05 1:00:51
46(10km 5B F605E U £ 33068(@@H = MARLE 1:02:11 1:01:18
47|10km S F 6058 A £ 33128| K%k 1@k KR |R=E2 =260 0% 1:02:46 1:01:27
48(10kmBF 60U L 33031 |/t BhRE MPLE | 754>~ 1:02:02 1:01:47
49|10km B F605% A £ 33030|%=% 5 ML |74 1:02:21 1:02:09
50{10km 5 F605E U £ 33098t 1E4T MARLE 1:03:04 1:02:15
51|10kmZBEF60/m U L 33092 |FEE 1EME HBE  |bhrBERAFRC 1:03:56 1:02:32
52(10km S F605E MU £ 33043 |3RA B MARLE 1:03:28 1:03:10
53|10kmZB F60/m U L 33117|RE HFE KERAF 1:03:53 1:03:17
54(10kmB F 60U L 33071[EO BA KERAF 1:04:22 1:03:46
55|10kmZB F 605U L 33022| & M= MIWLE |FFLES SR 1:04:40 1:03:57
56|10km S 76058 A 33082|@ml BBk MILE | EFNT 7T 1:05:05 1:04:12
57|10kmZBF60/m U L 33062 (1AM FHF ZEE 1:04:50 1:04:26
58(10km S F605E MU £ 3307512 @2 KBRAF 1:05:42 1:04:27
59[10km3E F605E U L 33187|FEE B KERAF 1:05:28 1:04:28
60{10km 5 F605E U £ 33101|=ERT #2 KBRAF 1:05:32 1:04:42
61|10km S F605% A £ 33078| £ M i ML 1:05:46 1:05:00
62[10kmBF 60U L 33012|R A BEEEF BB 1:05:12 1:05:08
63|10km S F605% A £ 33080| % ML 1:06:40 1:05:15




64(10km S F605E U £ 33070|1kBE B KBRAF 1:05:46 1:05:21
65[10kmBF60m U L 33178|iEE EZ KBRAF 1:06:03 1:05:21
66(10km S F605E U £ 33055 (/g #58 KBRAF  |NET ASEY 1:06:02 1:05:41
67[10kmBF60m U L 33053[5T)11  H— KBRAF 1:06:50 1:06:21
68(10km 5 F605E U £ 33095(H@E @5 KERAF Yav¥—-X0B 1:07:11 1:06:22
69(10kmBF60m U L 33065 |fE  TE ML 1:07:02 1:06:39
70{10km S F605E U £ 33126|/NIl FT—ER BEE 1:08:05 1:06:51
71[10kmBF60m U L 33049 |BlB L MILE 1:07:21 1:06:52
72(10km S 760U £ 33107|%H =% MARLE 1:08:14 1:07:07
73[10kmBF60m U L 33089:=IEH AR ML 1:08:01 1:07:14
74{10km S F605E U £ 33072|# 1EM MARLE 1:07:49 1:07:22
75[10kmBF60m MU L 33112k =hA KBRAF 1:08:47 1:07:30
76{10km S F605E U £ 33079 G R =RE BEentz 1:08:22 1:07:33
77(10kmBF60m U L 33076|f0&R &7 ML 1:08:36 1:07:49
78(10kmB F 60U L 33086|F L #= MIFLE 1:08:42 1:07:52
79[10kmBF60m U L 33097 |@F 1ERA ML 1:09:09 1:07:59
80(10km S F605E U £ 33064 (124 K AL E 1:08:27 1:08:03
81(10kmBF60m U L 33066 (&K EEA MIPTLE |bhrvEsr=rvsv57 1:08:48 1:08:11
82(10km S F605E U £ 33134 (A A KERAF 1:10:06 1:08:29
83[10kmBF60m U L 33091 |AfE 30k MILE | KERE 1:09:43 1:08:55
84(10km S F605E U £ 33077|&F A MILE |KAMYTKAM 1:09:55 1:08:56
85[10kmBF60m U L 33084 |FFH % ML 1:10:10 1:09:22
86(10km S F605E U £ 33135|@h EW KBRAF 1:10:48 1:09:23
87(10kmBF60m U L 33114 ()1l AR MILE |UPBEAT 1:10:48 1:09:26
88(10km 5B F605E U £ 33069(12H {EE MMLE KRSV - Z7—LHh WA 1:10:37 1:10:12
89(10kmBF60m U L 33110[&kE sk RER 1:11:32 1:10:12
90{10km 5 F605E U £ 33104ZH %=k KBRAF 1:12:12 1:10:37
91(10kmBF60m U L 33038|BRF BE ML | 7754 1:11:48 1:11:14
92(10km S F605E U £ 33118|Fx HE MKLE |da FE 1:12:49 1:11:29
93[10kmBF60m U L 33116|E&A ik MFLE |=L 1:13:13 1:11:40
94|10km B 76058 A = 33149|+4  =5L MILE |~ 2—X 1:13:39 1:12:02
95[10kmBF60m U L 33083|AE Ak KERAF 1:12:46 1:12:39
96(10km 5 F605E U £ 331021l EEk MARLE 1:14:15 1:13:03
97(10kmBF60m U L 33051|Kka & MILE | KETERAEH 1:13:31 1:13:05
98(10km 5B F605E U £ 33137|EEAR B KBRAF R EEHETE () 1:14:32 1:13:09
99(10km B F60/m U £ 33124|fER  — ] AL R 1:15:03 1:13:28
100|10kmEE F605% L L 33145([EH EBh KRiFE  |EAISELIS 1:14:09 1:13:51
101|10km3B F605% LA £ 33144 (LR A MILE (&L 1:15:12 1:13:58
102|10kmE&E F605% L 33088|18A VAL AL E 1:15:06 1:14:16
103|10km3E F605 U L 33013|#8 BuE BREEF : A2 1:14:25 1:14:22
104|10kmE&E F60mE L 33045(f@A& & FER 7YiRY 1:15:12 1:14:39
105|10km 3B F605% A £ 33105\ LT &4 ML 1:15:48 1:14:56
106|10km&E F60mE L+ 331413k =i KRAF  |[mEEYES 1:17:02 1:15:36
107 [10km3B F605% A £ 33131|%& RI# KBRAF 1:17:13 1:15:54
108|10km&E F60mE L L 33061(1LA  BA4T MARLE 1:16:53 1:16:11
109|10km 3B F605% A £ 33125[kM X KERAF 1:17:57 1:16:21
110|10kmE&E F605% L 33044 | =15 #Hi KBRAF ¥2077 1:17:07 1:16:47
111|10km3B F605% A £ 33113 (A B MILE |RERAS Y=y 1:18:03 1:16:48
112|10km&E F605E L 33136( KI5 & MARLE 1:18:47 1:17:22
113|10km3B F605% A £ 33189 |&HE AL ML 1:18:25 1:17:34
114|10km & F605E L 33146(HE+F A MARLE 1:19:43 1:18:08
115[10km3B F605% A £ 33099 | % B MILE 1:19:53 1:19:00
116|10km&E F605E L 33046|MmA& (= KBRAF AR 1:20:05 1:19:43
117|10km3B F605% A £ 33122|hiR 8B MILE | ThrLl] 777 1:21:44 1:20:11
118|10km&E F60mE L L 33208|8RE & HEE 1:22:08 1:21:36
119|10km 3B F605% A £ 33108|&3% i KBRAF 1:22:29 1:21:50
120|10km&E F605% L £ 33060| £ii FIE ML= 1:23:47 1:22:30
121|10km3B F605% A £ 33123/l AR ML 1:24:39 1:23:08
122|10km&B F605%LL £ 33073|hit % KERAF 1:24:08 1:23:29
123|10km3B F605% A £ 33003 |FEA =8 KERAF  |FIRTIAEEFER 1:23:51 1:23:45
124|10km & F605E L+ 33111|&E EiE BEE 1:25:16 1:23:48
125|10km3B F605% A £ 33052|&HMS B KERAF 1:27:08 1:26:25
126|10km&E F605%LL £ 33202 |kl & LS 1:27:50 1:26:34
127|10km 3B F605% A £ 33130(1L7E EAR ML 1:28:20 1:27:00
128|10km&E F60m% L L 33048|)11%F HRE RRE 1:28:21 1:27:45
129|10km 3B F605% A £ 33143|A@A = MILE |PRE2RR=Yo 5T 1:29:50 1:28:15




130|10km B F 605U £ 33151 | /R BER KBRAF 1:31:19 1:30:41
131|10kmBF605% U £ 33138|#lE  FEP MILE 1:34:08 1:32:34
132|10km B F 605 £ 33140|/hE JH ML 1:41:40 1:39:41
133|10kmBF605% U £ 33150|#H  #IE3 MILE |AFbLELAS5R 1:42:54 1:41:10
134|10km B F 605U £ 33106|&Edh Wk ML 1:55:06 1:54:16
135[10km3BF605% U £ 33127 |1EBk B3hXX MIRLE 2:20:51 2:18:51




